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Heinz should steal the drug, Heinz should not steal the drug,

# Level - Stage because o because
Itis only worth $200 and not how . ,
; He will consequently be putin
Obedience much the druggist wanted for it; Heinz prison which will mean he is a bad

had even offered to pay for it and was

' He will be much happier if he saves Prison is an awful place, and he
Self-interest his wife, even if he has to serve a would more likely languigh in g jail

prison sentence, cell than over his wife's death.
~ Stealing is bad and he is not a
Conformit His wife expects it; he wants to be a criminal; he has tried to do
onformity good husband. everything he can without breaking

the law, you cannot blame him.

onventiona also take the prescribed punishment

for the crime as well as paying the

caw-and- druggist what he is owed. | The law prohibits stealing.
Criminals cannot just run around . :
without regard for the !aw, actions
‘have consequences. =
Social The scientist has a right to fair
Everyone. has ai nght to choose hfe compensation. Even if his wife is
Canventional |.contract | .
Gonventional - -2 e regardless of the law —|sick; it does not make hls actions -
Post- orientation evine ;.‘,:_, R R ey oo
3 . g
Conventional
Universal Saving a human life is a more Others may need.the medicine just
human ethics fundamental value than the property as badly, and therr lives are equally
| rights of another person. significant.
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